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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]

350 1 |
——

300 + —®—
——

250

setVI_ETcl
setVI|_VN
s|SetVI

h

200

150

100

50

30

40

50

60

70




1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VI _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-16_0
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P3-16

BflE | GEBRK () | ERE(EA/K) | XS R

07:30 111 150.0 B5| ThHAe07:30 REIEF CRAKZES
08:05 111 150.0 RS ThHAQO8:05 KENFEF (KAfEEER)
08:40 111 150.0 A5| TiiHAe08:40 KHFEF (RAEHES)
09:15 111 150.0 | B5| Fi#Ae09:15 KAiEF (GREAERHEE)
10:00 111 150.0 RS FhHA@10:00 KENFEF (KAHEEE)
10:40 111 150.0 RS ThHA@10:40 KEIEF (CKAFEER)
11:20 111 150. 0 B5| ThHAe11:20 REEF CGRAKZES
11:55 111 150.0 RS FhHA@11:55 KENFEF (CGRAMEEE)
12:30 111 150.0 RS ThHAe12:30 KEIEF (KAHEERE)
13:05 111 150.0 RE| ThHAe13:05 REIEF CRAKZES
13:40 111 150. 0 R5| TiHAe13:40 KRHIEF CGRAEES
14:15 111 150.0 RS ThHAe14:15 KEIEFE CGRAFER)
14:55 111 150.0 R5| TiHAe14:55 KHEF (RAEHS)
15:40 111 150. 0 R5| TiHAe15:40 RHEF CGRAEZFES)
16:35 111 150.0 RS ThHA@16:35 KENIEF (RAMHEESER)
2it]1665.0 (157%) 2250.0 ZEUHREC: 2080.0, PH: 6.0

[EKEC 6780.0 K5, EiNFKECAE&idEER

T ERECE (2100. 0 vs 6780. 0) it

=




FRV (ml plant-1)
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P3-16_0, Day=59 (2025-05-29)

1§90 vo,1FRY, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

00

14964

00

TargetEC=2600. 0,  TargetSetEC=2080. 0

TargetPH=6. 5, TargetSetPH=6.0

0.0

400

1
1
:
ByWon: @D59 01:46: ET=1496 Fg=2250.0 Ro=615.0
:
200 - I
1
1
1

1.0 L -

3000

- 2000

- 1000

osgd fE | FE | B5 | BF | 5 | BE | 5 | HE | RS | R

0.6 1

0.4+

0.2~

0.0

750 -
500 ~

250 -

', 'PPFD_obs’] is missing

25 A
20 A
" ' To-obs' | is missing

15 - ning:col [T o

80 A

60

"RHo_obs’] is missin

—— RH Warning: col ['RH obs’,

0.6 1

0.4+

0.2~

00 T T T
0.0 0.2 0.4 0.6

0.8

1.

0

cumET (ml/plant)



hour

10:
10:
115
:50
12:
12:
13:
14:
14:
15:
15:
140

1
1

16

o 0 N

100

80

45 - 60

25
55
30
05
40
15
55

- 40

§_

% K L
% &8
S Q\g’é\ »g\%}'

%
s
S X



P3-16

BYiE) | BRI (FD) | EHME (EH/HK) | XK EFRE

07:30 120 150.0 RE| 1BRi%e07:30 RHEEF (KFAEREE)
08:05 120 150.0 Bg| {Ri%Z@08:05 KENFESF (RF1EREE)
08:55 120 150.0 BE| BRi%@08:55 FENFEF (REEEE)
09:35 120 150.0 B5| 1Ri%Z@09:35 KRENFEFF (RFAA1ERER)
10:10 120 150.0 5| {BRi80@10:10 REFEF (GREFEREEE)
10:45 120 150.0 Be| Ri%@10:45 RHEF (KAEZRRE)
11:15 120 150.0 Bl EBige11:15 RMIEF (REEE®R)
11:50 120 150.0 S| {Bige11:50 REFEF (REFEREEE)
12:25 120 150.0 Be| 1Ri%012:25 RHEF (KAEZRE)
12:55 120 150.0 BE| 1Ri%e12:55 REEF (KEAEESE)
13:30 120 150.0 BE| 1BRi%e13:30 REEF (KFAEZRE)
14:05 120 150.0 Be| Ri%014:05 RHEEF (KAEZRE)
14:40 120 150.0 B5| 1RiZ014:40 KEFEF (RAAERE)
15:15 120 150.0 BE| 1BRi%e15:15 RHEF (KFAEZRE)
15:55 120 150.0 B5| {RiZ@15:55 KRENFESF (RA1EREE)
16:40 120 150.0 BE|  1BRi%@16:40 KREIEF (REEZEE)
23+ 1920.0 (167%) 2400. 0 329333 %EC: 2080.0, PH: 6.0

[E&REC 6777.0 K&, iU F{KECAE&P%ER
FHERECE (2153.0 vs 6777.0) 145




P3-16_0, Day=58 (2025-05-28)
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P3-16

BYiE) | GEBIETIK (D) | M= (EA/#K) | XS SRR

07:15 124 150.0 (& =| {Ri&e07:15 KEIEF (RAKESE)
07:45 124 150.0 (=] 1{Bi%e07:45 KmEF (GHEAERKSE)
08:15 124 150.0 Be| 1Ri%@08:15 KREFEF (KFEZRE)
08:45 124 150.0 Be| {Ri%@08:45 RHIFEF (KAEZER)
09:20 124 150.0 (=] 1{Bi%e09:20 KEEF (FHAERKSE)
09:55 124 150.0 (2 =| {Ri%&e09:55 KEFEF (KRR
10:30 124 150.0 |Z=| 1Ri%010:30 KREIEF (REAEESE)
11:00 124 150.0 (Z=| {Ri&e11:00 KEIEF (RAEESE)
11:30 124 150.0 (& =| {Ri&e11:30 KHEF (RFAKESE)
12:00 124 150.0 |Z=| 1Rig012:00 KREFEHF (REAEESE)
12:30 124 150.0 (B =| {Ri&e12:30 KEIEF (RAEESE)
13:00 124 150.0 FA| {Ri%@13:00 KREIEF (RAERSE)
13:35 124 150.0 PR {Ri%@13:35 KREIEF (KRATREES)
14:05 124 150.0 FA| 1Bige14:05 REFEF (REAERES)
14:35 124 150.0 FA| 1RiR@14:35 REFEF (REERES)
15:10 124 150.0 (B =| {Ri&e15:10 KHEF (RFAKESE)
15:45 124 150.0 | =| 1BRiB015:45 KRHEIEF (REAEEE)
16:30 124 150.0 (2 =| {Ri%e16:30 KEHEF (GRAEESE)
249t 2232.0 (18%) 2700. 0 3ESHKEC: 2080.0, PH: 6.0

unusual large postFgEt from yesterday (479), set to 450.0 ml.
[BI/&EC 6722.0 K75, EIMARECAEA&IMIEE R
BE[ERECE (2227.0 vs 6722.0) 535




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-16_0, Day=57 (2025-05-27)
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P3-16

RriE) | BRI (D) | EHME (EAH/K) | XK SRR

07:15 163 150.0 Be| BRi%@07:15 RHEFEF (KAEZRE)
07:50 163 150.0 Be| {Ri%@07:50 REFEF (KEAEZRER)
08:25 163 150.0 B[ 1Ri%e08:25 KEEF (KPHEEE)
09:00 163 150.0 RS 1Ri%@09:00 RHEIEF (KREERE)
09:45 163 150.0 Be| 1{Ri%@09:45 RHIFEF (KFAEZER)
10:20 163 150.0 (=] 1{Bi%e10:20 KHEF (FHAERKSE)
10:55 163 150.0 (2 =| {Ri&e10:55 KHEF (RFAEESE)
11:30 163 150.0 Be| 1BRi%011:30 RHEF (KAEZRRE)
12:05 163 150.0 RE| 1Ri%e12:05 REEF (KEAEESE)
12:40 163 150. 0 B (Rige12:40 REHPEF (KAZESE)
13:15 163 150.0 Be| BRi%013:15 RHEF (KAEZRE)
13:50 163 150.0 B5| {RiZ013:50 KENFEF (RAA1EREE)
14:35 163 150.0 R5| 1Rige14:35 KRHERF RAEHS)
15:30 163 150.0 Be| 1Ri%@15:30 REEF (KAEZRE)
21t 2282.0 (14)%) 2100.0 3EGHKEC: 2080.0, PH: 6.0

large discrepency for begining water status (391:62.0), set to 391 ml.
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P3-16

BYiE) | BRI (FD) | EHME (EH/HK) | XK R

07:10 163 150.0 el {Bi%e07:10 REIEF (REEE®R)
07:45 163 150.0 Be| 1BRi%@07:45 RHEFEF (KAEZRE)
08:20 163 150.0 Be| {Ri%@08:20 RIFEF (KAEZRER)
09:00 163 150.0 R5| 1Ri%@09:00 KRHEFERF (RAEHES)
09:45 163 150.0 B 1Ri&e09:45 KENFEF (RAEREE)
10:20 163 150.0 Be| {Ri%@10:20 RHEF (KAEZRR)
10:55 163 150.0 B5| 1Ri%@10:55 KRHFEF (RAEHS)
11:30 163 150.0 S| 1BRi%e11:30 REIEF (REERSE)
12:05 163 150.0 B Rige12:05 kEIEFE CGRAFER)
12:40 163 150.0 RE| 1BRi%e12:40 REEF (KEAEESE)
13:15 163 150.0 BE| fRi%e13:15 RHEF (KEAHEKSE)
13:50 163 150.0 fg| {RiZ@13:50 KENFESF (RFA1EREE)
14:25 163 150.0 B5| 1RiR014:25 KRENFEF (RA1ERER)
15:05 163 150.0 R5| 1Ri%e15:05 KRHIEF (RAEHS)
15:45 163 150.0 Bg| {RiZ@15:45 KENFESF (RAERSE)
16:35 163 150.0 Be| Ri%016:35 RHAMIEF (KREAEZRER)
23t 2608.0 (16:%) 2400. 0 329353 %EC: 2080.0, PH: 6.0

large discrepency for begining water status (344:170.0), set to 344 ml.
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